11@51 (Kl 1&51)

r;/_\\ Linearized knot diagam

/10\/8:3\ 5 1 8 2 4 10 3 7 11 6 9
3
v/ )/
Solving S
< 1 . olving Sequence
37 >8—>4—>19 52551110 — P
Aknotdiagranﬂ e 803 408 e 2 e 50111109 IOC6 6 —> C1,C5,C10

Ideals for irreducible component#ﬂ)f Xpar

I = (—5u' +23u® + - + 4b — 28,
20t — 7ut? 4+ 9ut? + 6ult — 33ut0 + 42u° — 6u® — 4207 + 53u’ — 19u° — Tut + 6u® + 11u® + 4a — 10u + 2,
u'® — 5uM +10u'? — 5ut? — 18ut + 4400 — 40u® — 3u® + 49u” — 55u’ + 2605 — ut + 20 — 120 4 120 —
I = 2u*a +8u®* + - —4a — 16, —2u*'a +Tu*? + - +6a — 11, v +2u*? +--- — bu —2)

IV={(a, ¥ —b+1, v+1)
Iy ={a, b—v, v* —v+1)

* 4 irreducible components of dim¢ = 0, with total 65 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} =
(—5u'*+23u'3+. .. +4b—28, 2ut*—Tul3 4. . +4a+2, u'®—5ult+. .- +12u—4)

. ()
o
oo
e
w= (0"
< I
(
(
(
(

ag =

e
g

14—4u13—|—~-~—9u+g)

as = \ Ty, l4 _ 29,13 25
5 U Tu” + U+ 5
—%u14+9u13+ -~—|—6u—%
an = \—zuM —qu¥ 4+ = Ju+3
_%u14+7u13+ '.+2u+%
aip = —iu14+%u13+~ —2u2—|—§u
%um—l—;ul?’—i— —16u+%
e = 3,14 _ 11,13 11
6 qu Tu”+ Su+2
14
%ul‘l %"ul3 =+ - 16u + %
ag = \ 3y — Hyl3 4. - Uy 42

(ii) Obstruction class = —1

(iii) Cusp Shapes = 13u' — 58u!'3 + 91u'? + 9ul! — 253u!0 + 402u° — 196u® —
247u" 4 488u® — 328u® + 45u* + 37u® + 59u? — 114u + 58



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,Cp u15+u14+_._+2u_1
€10
€2,C5,C9 w5t 1802 — 1
C11
c3, C7 u® —5uMt - 4120 —4
c8 ul® —5ult .. 48u — 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4, Co Yy 45yt 4 18y2 — 1
€10
€2, €5, C9 yP? 13y 4+ 36y — 1
C11
3,07 Y =Byt 4 4 48y — 16
cs Y 4 3yt 4. — 1024y — 256




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

uw= 0.297110 4 1.0136201
a = —0.987350 — 0.3113971

b= —0.738671 + 0.4902411

3.26489 + 2.243351

7.04256 — 3.440271

u= 0.297110 — 1.0136201
a = —0.987350 + 0.3113971
b= —0.738671 — 0.4902411

3.26489 — 2.243351

7.04256 + 3.440271

u = 0.843039 4 0.7151201
a= 0.718904 — 0.7355281
b= —0.47287 — 1.479241

—6.27477 + 2.716771

—5.40032 — 3.418161

u = 0.843039 — 0.7151201
a= 0.718904 4 0.7355281
b= —0.47287 + 1.479241

—6.27477 — 2.716771

—5.40032 + 3.418161

u = 0.528547 4 1.0455901
1.235390 + 0.1546321
b= 0.915557 — 0.8826801

1.75577 — 8.718741

3.93323 4 7.246151

u = 0.528547 — 1.0455901
a= 1.235390 — 0.1546321
b= 0.915557 + 0.8826801

1.75577 + 8.718741

3.93323 — 7.246151

u = —0.548950 + 0.4455591
a = —0.294279 — 0.6635651
b= —0.232624 — 0.2174331

—1.34006 — 1.537901

—1.51731 + 5.009081

u = —0.548950 — 0.4455591
a = —0.294279 4 0.6635651
b= —0.232624 + 0.2174331

—1.34006 + 1.537901

—1.51731 — 5.009081

0.700518
—0.240121
0.561665

b

0.940705

11.2760

u = 1.194600 + 0.5977341
a= 0.209836 + 0.8305781

b= 1.56955 4 0.922207

6.11311 4 3.455231

8.74146 — 0.799481




Solutions to I}

V=1(vol + y=1C)

Cusp shape

1.194600 — 0.5977341
0.209836 — 0.8305781
1.56955 — 0.922201

6.11311 — 3.455231

8.74146 + 0.799481

—1.338190 + 0.0935391

= —0.043731 — 1.0643601

—0.043240 — 0.6091351

9.46149 — 5.982151

9.71265 + 5.533921

= —1.338190 — 0.0935391
= —0.043731 + 1.0643601

—0.043240 4 0.6091351

9.46149 4 5.982151

9.71265 — 5.533921

1.173580 + 0.7235591
—0.218707 — 1.1411207

= —1.77854 — 1.213051

3.8210 4- 15.11591

4.84980 — 10.197811

1.173580 — 0.7235591
—0.218707 + 1.1411201
—1.77854 + 1.213051

3.8210 — 15.11591

4.84980 + 10.197811




II. 1¥ = (2u*2a 4+ 8u?2 + -.- —4a — 16, —2u?'a+ Tu?? 4 -.-+ 6a — 11, u®> +
2u?? + ... — 5u — 2)

(i) Arc colorings

o ()

1
a7 = 0
1
a8: _u2
U
as = \—ud+u
a
a1 = \—u?a—4u*?+---+2a+8
—u?+1
ag = —'LL2
%u22a+%u22+--~—6u—%
az = —%uQQa—gu22+--~+8a—|—8
—u*a—4u*? 4+ +a+8
a5: _%u22_%u21+.+au+%u
_%u19+2u17+,“+a_1
an = —u22a—%u22—|—---—|—2a+7
3u* + 2w+ — 10u — 2
aio = %u22a+%u22+~-~—7a—6
—u®a—4uP 4+ +a+8
g = ;uzz Lu?t +. +au+ su

—u??a —4u?? + - +a+8
ae = \—Llu22 - Ly2 ... fau+du

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —3u?? —6u?t + 130w +32u'? — 22018 — 861! +9u 6 + 1461 '° + 52014 — 17203 — 134w 2+
1420t + 194410 — 8642 — 185ud + 26w + 133ub + 16u® — 53u* — 28u + 4u? + 14u + 15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,Cp u46+2u45_~_”.+3u+1
€10
€2, €5, C9 ut® 1 16u* -+ —Tu 1
C11
c3, Cr (u® 4+ 2u?? + ... — 5u — 2)?
C8 (u®* —10u®? 4 - 4+ 9u — 4)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cp y46+16y45+~-~—7y+1
€10
€2, €5, C9 Yyl 428y + ... — 31y +1
C11
C3,Ct (y23 — 10y22 + +9y74)2
(&) (y23 4 6y22 R Sly o 16)2




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.639801 + 0.7474811
0.727893 — 0.6884321 | —2.85626 — 3.419051 | —2.17452 + 2.625751
0.26465 — 1.549531

0.639801 + 0.7474811
1.368810 + 0.3312301 | —2.85626 — 3.419051 | —2.17452 + 2.625751
0.347272 — 0.8972011

0.639801 — 0.7474811
0.727893 + 0.6884321 | —2.85626 + 3.419051 | —2.17452 — 2.625751
0.26465 + 1.549531

0.639801 — 0.7474811
1.368810 — 0.3312301 | —2.85626 + 3.419051 | —2.17452 — 2.625751
0.347272 + 0.8972011

= 0.892339 + 0.4065751
—0.099975 — 1.3619301 0.68141 4 1.671961 | 4.30301 — 3.030151
—0.81309 — 2.027271

0.892339 + 0.4065751
= 1.245900 + 0.6538761 0.68141 4 1.671961 | 4.30301 — 3.030151
—0.365826 — 0.8836441

= 0.892339 — 0.4065751
= —0.099975 + 1.3619301 0.68141 — 1.671961 | 4.30301 + 3.030151
—0.81309 + 2.027271

0.892339 — 0.4065751
1.245900 — 0.6538761 0.68141 — 1.671961 | 4.30301 + 3.030151
—0.365826 + 0.8836441

1.050370 + 0.349306.1
= 0.291173 4+ 0.9490091 3.69234 + 0.672231 9.57904 — 0.982781
1.18138 + 1.144141

1.050370 + 0.349306.1
= —0.472020 — 0.1281061 3.69234 4 0.672231 9.57904 — 0.982781
= 0.866881 + 0.5159081

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 1.050370 — 0.3493061
= 0.291173 — 0.9490091
1.18138 — 1.1441471

3.69234 — 0.672231

9.57904 + 0.982781

1.050370 — 0.3493061
= —0.472020 + 0.1281061
0.866881 — 0.5159081

3.69234 — 0.672231

9.57904 + 0.982781

—0.423739 + 1.0230801
0.901532 — 0.3083151
0.646872 + 0.6888171

2.61521 + 3.210961

5.70075 — 2.174831

—0.423739 + 1.0230801
—1.263400 + 0.0946641
—0.912235 — 0.6830611

2.61521 + 3.210961

5.70075 — 2.174831

—0.423739 — 1.0230801
= 0.901532 + 0.3083151
= 0.646872 — 0.6888171

2.61521 — 3.210961

5.70075 4 2.174831

—0.423739 — 1.0230801
—1.263400 — 0.0946641
—0.912235 + 0.6830611

2.61521 — 3.210961

5.70075 4 2.174831

—0.649214 + 0.610986.1
—0.654087 — 0.6830891
—0.163180 — 1.0217301

—1.56921 — 1.428631

0.37479 + 3.468031

—0.649214 + 0.610986.1
0.540359 — 0.4402521
—0.111799 + 0.5197871

—1.56921 — 1.428631

0.37479 + 3.468031

—0.649214 — 0.6109861
—0.654087 4+ 0.6830891
—0.163180 + 1.0217301

—1.56921 + 1.428631

0.37479 — 3.468031

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

= —0.649214 — 0.6109861
= 0.540359 + 0.4402521
= —0.111799 — 0.5197871

—1.56921 + 1.428631

0.37479 — 3.468031
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.857444 + 0.2233321
= —0.434590 + 1.0811007
—1.15099 4+ 1.591991

1.26940 + 3.502271

6.61882 — 3.385531

—0.857444 + 0.2233321
= —1.20976 + 0.813241
0.500178 — 0.5980511

1.26940 + 3.502271

6.61882 — 3.385531

= —0.857444 — 0.2233321
= —0.434590 — 1.0811001
—1.15099 — 1.591991

1.26940 — 3.502271

6.61882 + 3.385531

—0.857444 — 0.2233321
—1.20976 — 0.813241
0.500178 + 0.5980511

1.26940 — 3.502271

6.61882 + 3.385531

—0.975157 4 0.5647881
= —0.742547 — 0.7671251

—0.57975 — 3.226421

2.48526 + 3.267051

—0.975157 4 0.5647881
—0.313926 + 0.8103991
—1.47433 + 1.188381

—0.57975 — 3.226421

2.48526 + 3.267051

—0.975157 — 0.5647881
—0.742547 4+ 0.7671251
0.918100 + 1.0239701

—0.57975 + 3.226421

2.48526 — 3.267051

—0.975157 — 0.5647881
—0.313926 — 0.8103991
—1.47433 — 1.188381

—0.57975 + 3.226421

2.48526 — 3.267051

—1.058660 + 0.4629031
0.115203 — 1.2373401
0.99587 — 1.509911

2.96583 — 6.201031

7.62650 + 6.520331

= —1.058660 + 0.4629031
= 0.507084 — 0.1558081

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= 10.918100 — 1.0239701
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= —0.806153 + 0.6962161

2.96583 — 6.201031

7.62650 + 6.520331
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Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

= —1.058660 — 0.4629031
= 0.115203 + 1.2373401
= 0.99587 + 1.509911

2.96583 + 6.201031

7.62650 — 6.520331

= —1.058660 — 0.4629031
= 0.507084 4+ 0.1558081
= —0.806153 — 0.6962161

2.96583 + 6.201031

7.62650 — 6.520331

1.017600 + 0.6366251
0.744768 — 0.7494971
= —1.04484 — 1.245511

—1.67882 + 8.701491

0.49306 — 7.849091

1.017600 + 0.6366251
—0.217050 — 1.2260501
—1.50533 — 1.644051

—1.67882 + 8.701491

0.49306 — 7.849091

1.017600 — 0.6366251
= 0.744768 + 0.7494971

—1.67882 — 8.701491

0.49306 + 7.849091

= 1.017600 — 0.6366251
= —0.217050 + 1.2260501
= —1.50533 4 1.644051

—1.67882 — 8.701491

0.49306 + 7.849091

= 1.33812

= 0.075989 + 1.0409701 9.53870 9.98620
= 0.300733 4+ 0.5957511

= 1.33812

= 0.075989 — 1.0409701 9.53870 9.98620

= 0.300733 — 0.5957511

= —1.183710 + 0.6660711
= 0.195146 — 1.1474901
= 1.61477 —1.170571

5.02301 — 9.283261

6.87076 + 5.604341

= —1.183710 + 0.6660711
= —0.206318 4+ 0.8048111

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —1.04484 + 1.245511
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —1.66505 + 0.972891

5.02301 — 9.283261

6.87076 + 5.604341
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Solutions to I3

V=1(vol + v/=1CS)

Cusp shape

= —1.183710 — 0.6660711
= 0.195146 + 1.1474901
1.61477 + 1.170571

5.02301 4 9.283261

6.87076 — 5.604341

= —1.183710 — 0.6660711
= —0.206318 — 0.8048117
= —1.66505 — 0.972891

5.02301 4 9.283261

6.87076 — 5.604341

= —0.121237 + 0.6044431
= —1.76798 — 0.314541
= —0.373843 — 0.1805091

0.47190 4 2.340131

2.62944 — 2.837321

—0.121237 4 0.6044431
—0.082205 + 0.1742751
—0.250037 + 0.8264291

0.47190 4 2.340131

2.62944 — 2.837321

—0.121237 — 0.6044431
= —1.76798 + 0.314541
= —0.373843 + 0.1805091

0.47190 — 2.340131

2.62944 4 2.837321

= —0.121237 — 0.6044431
= —0.082205 — 0.1742751
= —0.250037 — 0.8264291

> Q@ €|l & €| & €| & 8| & 2| & &
Il

0.47190 — 2.340131

2.62944 4 2.837321
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I I = {a, b* —b+1, v+ 1)

(i) Arc colorings
-1
asz = 0
a7 =
ag =
ay =

a; =

(
(
(
(
o=
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes =8b—4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C
1,€62,C5 u2 +ou+ 1
Ce, C11
2
C3,Cr,C8 U
2
C4,C9, C10 u—u—+1

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
v +y+1
C5,C6, Co
€10, C11
2
€3,C7,C8 Y

17



(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
v = —1.00000
a= 0 —4.059771 0.+ 6.928201
b= 0.500000 + 0.8660257
v = —1.00000
0 4.059771 0. —6.928201

b= 0.500000 — 0.8660251

18



IV.IY ={(a, b—v, v2 —v+1)

(i) Arc colorings

w= (0)

()
o ()
o ()
o ()
o ()
o )
o= ()
o= (1)
wo=(,"1)
w=(2)
w= (1)

(ii) Obstruction class =1

(iii) Cusp Shapes =3

19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C
1,€62,C5 u2 +ou+ 1
Ce, C11
2
C3,Cr,C8 U
2
C4,C9, C10 u—u—+1

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
v +y+1
C5,C6, Co
€10, C11
2
€3,C7,C8 Y

21



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + v/—1CS) Cusp shape

0.500000 + 0.8660251

= 0 0 3.00000
0.500000 + 0.8660251

0.500000 — 0.8660251

0 0 3.00000
0.500000 — 0.866025.1

(S BEESEES S B S B -
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V. u-Polynomials

Crossings u-Polynomials at each crossing
€1, Ce (v +u+ D)W +u* + -+ 2u — D)+ 2u® 4+ -+ 3u+1)
C2,C5,C11 (u? +u+ 1)) (" + 5uM* 4+ 18u? — 1) (u*® + 16u™® + - — Tu + 1)
c3,cr ut(u'® = 5uM 4 120 — 4)(u? + 20 4 — B — 2)2
¢4, C10 (v —u+1D)HW® + e+ 4+ 20— D +2u® + -+ 3u+1)
Cs ut(u'® = 5ur -+ 48u — 16) (u® — 10u? + - - + Ju — 4)?
€9 (u? —u+ 1)) +5u + - +18u? — 1) (w*® + 16u*® + .- — Tu + 1)

23



VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C4,Cq ((y2 +y+ 1)2)(y15 + 5y14 NI 18y2 _ 1)(y46 + 16y45 b 7y + 1)
C10
€2, €5, €9 (" +y+ D) (" +13y" + - + 36y — 1)
C11 . (y46 + 28y45 4o 31y + 1)
s, Cr y4(y15 _ 5y14 4+ 48y _ 16)(y23 _ 10y22 4ot 9y . 4)2
(& y4(y15 + 3y14 B ]_024y _ 256)(y23 + 6y22 4t 81y . 16)2

24



